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1. (p48 il 1(1)) (
2. (p48 #il 1(3)) (sin®

sin3z) = 3 cos 3z

) = 2sInx cosx

3. (p49 #1 2(2)) (cos(3z+5)) =
—3sin(3x + 5)
4. (p49 1 3(1)) (tan5z) = —

5. (p49 Bl 3(3)) (tan(z® +1)) =
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cos?(z?2 + 1)
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8. (p61[V]) (arcsinz)’ =
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/
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(arctanz)’ = !
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9. (p67 #IE 1(3)) (log(l +tanz)) =
1

cos? z(1 + tanx)
10. (p69 1 1(4) (e5m@) = esin® cos

11. (p69 R 2(2)) (e*sin(3z)) =
e”(sin 3z + 3 cos 3x)

12. (p108 [ 1(2)) (sin(2x))"” = —8cos2x
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f'(x) =1—cosx
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S0<z—sinz (0<z<m)
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1. (28 17 FIEED 1) siERIC A X
30° = ¢ - 90° = —2

2. (%17 IEIH%E_OJ 2) ERGRIZA Y X,
%7‘(‘ = 60° — 21 = —360°
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sin 135° = % 3T=35
tan Zw =1 i
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arcsin(0 =0
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